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Review: Angelica rides her magical bike at a rate of 120 miles per
hour. The angular speed of each wheel is 528 revoluons per minute.
What is the radius of a wheel, in inches?
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9. A navigator on a ship sights a lighthouse at a bearing of N31°E. After traveling 23 miles at a heading of 295°, the
ship sights the lighthouse at a bearing of §89°E. How far is the ship from the lighthouse at the second sighting?
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10. Aregular octagonis inscribed in a circle with a radius of 8 inches. Find the perimeter of the octagon.
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Bonus: A pilot is flying at a heading of 96° at 225 miles per hour. A 50 mile per hour wind is blowing at a heading at 37°.

Find the ground speed and course of the plane.
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Nectoe Operations
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